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0000000, 000000000 O(k)O0O0O0OO0OODOOO.

O(Zo) = {...,2_1,20,21,...}. (2)

000 2, =T*% 000,70 TO0O000000.00 %00000 EO(2)0
oooooooo.

EO(z) = {T*z + (271,0) } 1, ez (3)
0000020000 HO GOOOOOOOO ().

T = HoQG, (4)

G(@y) = (-Ey+f(@), (5)
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000000000 ou(x,y) DOOODO.

UZO(x,y):(on—x,Qyo—y), (9)
000 2z = (zo,y0). 000000000 2000000 18OO0O0OO0OOO
0.0,A0, 200000000 A0 1800000000000, 000 o,, O
o.(z,y) 00DO0DODO.
00000000000 2000000000000D0DO0O R(z,y) (RODD
o0)ooooo.
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ggd.
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Figure 1: 00 [0/1,1/1]00000 Stern-Brocot 0. LO ROODODO0O0O000O0O0O0O000
0oo00o0o0o0O0000o.

2.2 Stern—Brocot [

Stern-Brocot 0 (SBT) 000 00000000000000CO 2. SBTOOOO
000000000000000.000000[0/1,1/1]00000 Stern-Brocot
0D000. 000 010000000.0000,200000/101/100 SBT
000000 pi/gt <p2/e 000020000 py/gn O po/ge 00, 00000
000000000 p/000000.

p1/q1 @ p2/a2 = (p1+p2)/ (01 + 2) = p/q (11)

SBTOO0O g/ O p/q0000000, p/g2 0000000, DOOO0OD,
0O [0/1,1/1]00000000000000000000.

SBTODO 0/10 1/1000000, 00 Stern Brocot 0 (TSBT) 00O OO,
TSBTO 1/200000 200000 (0 1000). 00000 (O)o 2000
000 (20000)000,0000 2000000000.00000D0O000O
O000.1/2000000000000. 0000000 1/302/3020000.
000000000 30000. 00000000002 '000000000
0oo.

p1/qi O pa/gz 0 SBTOOOOD, 00 0<pi/q < pofge <1 0000000
000. pi/g O pe/g 00 (11) 0000000000, 0000 p/q00000
O, {p1/a1,p2/q2} BODO. 00, p/qOO00 [p1/q1,p2/x] DOO0. 000D

p2q1 —p1g2 =1 (12)

Uooboooooon0,000bd FareyODOOOO,000 FareyOO, 000
FareyOOOUOO. 00O FareyOOO FareyD OO OOOOOOOOO.

FP[p/q] = {p1/q1,p2/a2}, Flp/q] = [p1/q1,p2/q].

FareyOOOOO0OO0OO0O0. 0000000 FareyOOOOOOOODOODOO
gooooboooboog. oo

P2g1 — P1q2 = 2 (13)
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Figure 2: 0000 Z/1(Qoo) (C(Zyn))000. 000 W, 0 W20000 RoeOOOOO
0000000000000 0000DO000. O0OW20OWloooo Re0O0O0ODODOO
0000000000000 0D00000.00000000000000. a=2.92.

23 UODOO0ODOOOO

000 P(0,0) 0000000000000 Py = (2ri,0)00, Q(x,0)0000
00 Qio=(2mi+7,0000. 000 Pyo=(0,00,200000000000
0020000000000000000.00000000000000000
00000000 WHPy)00,0000000000000 W2(Pyo)ODO. O
000000 Ryp=(0,0000000000000000 WhHko) ODO,0000
00000000 W2(Ry)OOD.0000000000000000000 20
000000.0000000000000000000. 000 Wlad wWl(Ry)
00000.0000000.

Po0O0000000 Wh(Ryo)0OOO SE(1)D«wODOO00,00000 SE(1)
0.,00000.00000000000000 WHPo)DO WhHPoe) D20 wD
vO00000.000000000y<0000000«0v00000.000
0000000000000 D0000.
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00000000 Z,1(Que)000.00000 QpOdO000000. Q00
0000000000000,000000 (%,,)000000

000000000000000UY,, 0000000000000 V¢, 000
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20 p/q0000000000000000, 2 0p/0000000000
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000000000000.0000000000 (1)0¢$6000000000.
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(i) UQo,oZO/l(QO,O) = Zo/l(Qo,O)-
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Figure 3: 2000000 (21/2>|:J (21/3>DDDD|]|]|]. 2/5-NBF 00000000 0OO.
00«0 n0000,¢0x00000.0000000nn0nkn0000000.00000
oood -—-=npn=>m=>np=>np=---000 --=>ph=>n=n=>n=---0000.

(ii) 02921/2(20) = Z1/2(20), [ 20 = (0,7)].

00 232 0<y<2r0000 Sg(0) 000 LOOO. 0, TFL=TFLOO0ODO
0.000 z=(knr,m) 00OO.

O0. D000O000O0, 0000000, k& =00000, 0000000
0. 0, T"L = T*L [z = (kn,m)] 000000 DOO0OO0O0. ODOOODOOOO
TFHIL =T e = ((k+ D)r,m)] 000000000, (QED.)

JZk+1
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3 FareyUUUUOUUoOoooooon

000000000 p/q00<p/g<10000000000000000000
0D00.00000p/¢-NBODODO.

p/q¢—NBF, p/¢—NBNF 0000 p/¢—CNBOOO.

{p1/q1,p2/q2} 0 p/q0OO000. 000 p/q0OOO0O0DODO (Z,/,,)00
gobooooooood DDDD,<Zp2/q2>DDDDDDDDDDDDD goon
O0.000Farey0DOOODOO,00000000 p/q0 Farey0OO0OO0OOOOO
O0000000. 0000 p/¢-NBFODOO. 0DO0O0O FareyOOOOOODOO,
000 p/q00 Farey 00000000000 00000. 0000 p/g-NBNF O

O0.00 p/¢-NBF OO p/¢-NBNFOOOO p/¢-NBO p/¢-CNBODODO.

030000,0002/-NBFOOOOOOOOOOO. 200000000
e =mamanpa=c 0= = - 00000
000000.2000000 0 m O (2,)00000000, 5 (45), 75, O 04



g <Zl/3>DDDDDDDD. O000000O0,00000 2/5-NBfOOOOOO
gooboobooon.

00 3.1.
(i) p/¢ 0 TSBTOOOOODOOOOOO. 0000 p/g NBNF— p/¢ NBFO OO
oo.

(ii) p/q 0 p//¢ ODOOO TSBTOOOOOODOOO, [p1/q1,p2/92] D [Pi/d), ph/d5)]

ODDO00000000. 000 [pi/qi,p2/a] € NFI[p/q], [p1/d1,p5/a5] € NFI[p' /]
000.0000 p/¢-NBNF— p//¢-NBNFOOOOO.

go.

(i) FP[p/q] = {p2/q2,p3/q3} Farey OO O O, {p1/q1,p4/q4} € NFP[p/q] OO Farey
ooooo. oo 22100,0000000000.

p1/q1 < p2/q2 < p3/q3 < pa/qa. (17)

0000200000000 (Zpye) O Zpsas) O (Zprjar) O (Zpajen) D000
O00O0000ooOO0O. 0D400000. p/¢NBNFOOODOOOOOOODOOO
T, 0 (=2 +1) O T, (m+1) 0000000. 00000000000
O0mO0n0000000000000. 0000000 m=(@u+2)/20,00
0000 m=(¢+1)/2000.00 0000000 n=(q1—2)/20,000
D00 n=(q—1)/2000. 00000 T, /g (—p3+1) O T30, 0, (ps+1) O
O000.0000+0 j0000000000. 0000000 i=(¢g3+2)/2
0,000000 i=(g34+1)/2000.00 0000000 j=(g@-2)/20,
000000 j=(e—1)/2000. 00000000 p/¢-NBFOOOOODO.
UbOp=p2+psUg=q+¢UOO0OO.

(i) 00D0D00 40000000000, 000 pe/ge O /¢, 00000,
p3/as 0 ph/d, 00000, pa/ga O p2/ee 000000, )DO00DO00OO0D (i)
000000.00000000. (Q.ED.)

4 TSBTUUOUOO FareyUUOUOOOOOoooonO
HEN

4.1 TSBTOUOOOODODOOODOOOOO

00 41.1000000000000000000. p/qe(0,1)00000 TSBT
000002000, p/q0000000000000000000 {pn/¢n}ns1
00, pu/gn —NBFODOOOOOOO ac(pn/¢n —NBF)ODODO. p/g0O000O
00000000000000 {p,/d}.>1 00, pl,/¢,—NBFOOOOOOOO
ac(pl,/¢,—NBF)OOO.000000000000000000.0000000
00000000000 1.100000.

nh_)rrolo a.(1/n — NBF) = a.(0/1), (18)
Jim_ ac((n — 1)/n — NBF) = a(1/1), (19)
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/X Zpla,) )
" plg-NBNF
Zp, Ig,(®)

Tl g, PsD) "
ps/q3( P3t1) V\él(Plo)

Figure 4: 2000000 Zp,/0,(8) O Zpy /g5 (V) O Zpyjqy (@) O Z,,,,(6) 00000,

Jim_ac(pn/qn — NBF) = ac(p/q), (20)
Jim ac(pl,/q;, — NBF) = ac(p/q), (21)
ag™(p/q) = Max(ac(p/q), a.(p/q)), (22)
ag™(p/q) = Min(ac(p/q), ax(p/q)). (23)

000000000000000. a™*(1/2) = a™"(1/2) ~ 2.54, a™**(1/3) ~ 1.80,
a®n(1/3) ~ 1.76. 00000000 p/g (€ (0,1)) # 1/2000, a®>(p/q) #
a?(p/q)D00D00. 0000000000000, 00 41.100/101/100
00o000o0o,o0/1(1/1)000000000000000000000000O0.

00 4.1.1. Aoy = (24 (44 — 3V1T7)Y3 4 (44 4 3V/177)1/3) /3 = 2.6589--- O O
00 M..=1++v2000.

(i) p/a=0/1(1/1),1/2000. a?*(p/q) = a?™(p/q) DOOODO. a=aP™(p/q) =
a™(p/q) 0000, 0000000000000 (InAmee)/¢000.

(ii) p/q (€ (0,1)) #1/2000. a?(p/q) = a™(p/q) DOOODOOO, 00
D0000000000 (InApee)/q000. ag™(p/q) # ag™(p/q) OO0, a =
a?(p/q) 0000000000 D00D00000 (InApee)/¢000, a=a(p/q)
00000000000000000 (InX,,,)/¢000.

max

(
HO000. Zy1(Qup) 00000 Sy(1) 000 Iy, D00, g, Txloy = Tl
00000. 0000000 2313)0000 y0000 2r00000000O0,



Z11(2))

Figure 5: a = ac(1/2) 0000 Z1)5(20) O T?55(0) 000. 000 2 0 1/2-000000
00000,00001/200000000000.

a.(0/1) = al(1/1) 0ODODOO. 000 aX0/1) = a™™(0/1) = a™*(1/1) =
a®n(1/1)00000.

00 23.1(%1) 000 232 00, 0,Z12(22) = Z12(22) O 02,T%55(0) =
T?l,(0) 00000. 000 2, = (2mm) = T%2 (20 € S¢(0)) 000, OO
0 aMe(1/2) = ¢™(1/2) 00000,

1/200000000000000000 {pn/qntn>1 = {1/2,2/3,3/5,4/7,---}
000. 00000000 {(2,,,,.)} 0 (Z1)0000000000. 00 1/2
00000000000000000 {p,/d}n>1 = {1/2,1/3,2/5,3/7,---} OO
0. 00000000 {(Zy )} 0 (Z1) 0000000000, Z)5(22) 00
00000. T%,,,(00 0000 Z5(22) 00000000000,0000000
0(Z,,)0000((0000000)00000000000000 (2, /)0
00000 T, ,,(G)00000000000-00000. 000 ¢,00
00000 m=(¢,—1)/2000,¢ € Sgp,+1)000. ¢, 0000000
m=(¢,—2)/2000, ¢ € Selp, +1) 000. 000 1/200000000
O (p,+1)/(¢,+2-NBFOODODOOOO. ODOONBFOODOOOODDOO,
T?12(0) 0 Z15(2) 00000000. 0000000, T?5(0) O Z/9(22) O
0000000000 D00000D. 00000050000000. 0,0 =4
ooooooooooo.

0005000000000000000000000000. Z/5(22), T%/2(0)
00000000000 7T200000. 00002 €S540 00000000
0000. T%,,(0)0 1/2-000000000000000000000000,
l15(0)01/2-0000000000000000000000.0001/2-000
000000000000000000 GOOO000000000000. 000
0000000 L,(000000000,00000004L,(0)00000.

0000006000000.000000047,000000000%,0 7/2(0)
00 a(=T"2/)000000.0000000000A4,000000000 7,0
Li(0)00 B(=T"26)000000. 0000000600000000000
0000,060000000000000000000.00000000000
300000 2,s0000¢t000.0000000000, % =T2%, §=T24,
f=T250000000.0020 s0 ¢t0000 (Three prong) 00000, OO
0D0000000000D00,5000000 A,B,C,D,E0 7200000000
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Figure 6: a = a.(1/2) 0000 Zy/5(20) O Li»(0) D00, 000 2 0 1/200000
00000,0000 1/2-00000000000. 000§ 0 ¢ 00500000000.
AB,C,D,E00O0DODOODODOOOOOOOCOODODO.

00.00000000000.
() ADDD ADCOD10000,B0200000.
(i) BOOD E0 100000,

(i) CO0O0 CO010000,B0 DO200000.

(ivyDOOO ADOOODOO.

(vyEDDODO CO EDDOOOO,DO200000.
00000000000000MOO0000.

A B C D E
A1 2 1 0 0
B{0 0 0 0 1
M= cio 2 1 2 0 (24)
Dj1 0 0 0 O
E{0 0 1 2 1

000000 Apax = (24 (44 — 3VIT7)Y3 + (44 + 3/177)1/3) /3 = 2.6589 - - -
0000000000000 00000000004.

A =222 - A —2)(\? =X +2)=0. (25)

O000000000000000 (In max)/2000.0/1000 1/100000
O0,0000000000000 n\pnax00O0O.

() 00 0. a™(p/q) = a™"(p/q) DODOO00D, 0000000000000
00000.0000000 a™*(p/q) # a™™(p/q) 0000000, a=a®>(p/q)
go,0e602000000000000O0O0DO0O. DDO0DOUObDOUODOODOGBO
000000000000 0000. 0000000000000 000 (InAnax)/q
gggd.

11



a=a™(p/q)00,200000000000,00000000000000
00. 00000000000000. 000 TROOOOOOOOOOOO00OO.
0000 70000.07% (3,) 004, (3,)0000400000000.0 70
000 TROO,000000000000 X0000.0000000 D000
0,00000000000000.000000000000000000000
000000000.000000000004%,04,00000000000.0
0000080000000.0800000 TR, 0070 TROOOOO, TRO
0000000.00,0000 TR, O00000000000000000000
00000000O0. TRyOOO0O000 M;000000000000

A B CDE

A1 2 1 0 0

B0 0 0 0 1
Mi=16¢lo 2 1 0 o0 (26)

D1 0 0 0 0

E|lo 0 1 2 1

M;0000000000000000.

AN =22 —1) (A2 =1 +2)=0. (27)

0000000 N, =1+v2000.000 (\2-22A—-1)=00000000.
a=a™(p/q) 0000 TROODOO TR, O0000O0D0000000,0 200
00000 TR, 000000000000. TR,OO 90000000. 0900

RT27,07,000000.0000 M,O0O0O0000DDOOO.

A BCDETFG

AT 2 1 0 0 0 0

B/o OO OU OGO 1

cl0 2 1 0 0 0 0
Mo=1pl1 000 0 0 0 (28)

E{0 01 1 0 0 0

F|0O 01 0 0 0 O

Glo o 1 0 0 2 1

00 M,OODOOODODODOODODOOODODOOO.

MAZ -2 -1)(A\2-A1+2)=0. (29)

0(27)00 (2900000 A00D0D00000.0002000 (27)0 (29)000
0000000000.
0200000000000000,00x(>3)00000000000. O
000000000000 TR,000000000000.0000, RT3,
(7)) 07, (R"T?"3,)0000,%,04.0000000000.0000000

0 4.1.1@)0000000000000OO0000OODOOO0ODO. 0000 TR,OO
goooobooboooobooog.

ALOZ _od — (A2 = A +2) = 0. (30)
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Figure 9: 0000 TR, OODOOOOO0O0O0O00OOO. RT23,07,0000,R 725,07,
oogooooooo.

0000000000000 6080000000000000000000. 0
00000000 4,04%,000000000000,000000000000
00000000000000000000000.0000000 Ny, =142
000.000000000. (Q.ED.)

4.2 TSBTOUOOOOOOOOOODOOO
0000000000 421000000000.

00 4.2.1. 00000000000 e>00NBFOOOOOOOOOOOOODO
ooo.
00.00422(00000)000 1.1(v)00,00 42100000. (QED)

00 [1/2L*000000000000000.0000 (600000000,
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